Stoichiometry Review #1

I8
5 /
. Lithium Carbonate is decomposed. How many grams ofexygen will resuit from the w
reaction of 34.55 g of lithjum carbonate?

2. Hydrochloric acid is added to magnesium hydroxide, What mass of magnesium hydroxide
is required to react with 0.75 moles of hydrochloric acid?

3. Barium Nitrate reacts with sodium. If3.2 g of barium nitrate and 5.3 g of sodium are used,
how many grams of Ba will result? ‘

Caleium Hydroxide is reacted with iron (II) cyanide. If2.05 g of calcium hydroxide and
4.65 g of iron (IT) cyanide are used, what is the limiting reactant? How many moles of each
product are formed? How many grams of excess reagent remain?
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Stoichiometry Review #2

2. Chlorine gas is added to calcium bromide. How many grams of calcium bromide
are needed to react with 14.55 g of chlorine gas?

moles of oxygen are used, how many grams of water will be produced? How
much of the excess reagent remains?

5. Cobalt (IT) chioride is added to iron (II) nitrate. How many moles of each
product will be produced from the reaction of 60.88 g of cobalt (I1I) chloride
(assuming there is an abundant supply of iron (I7) nitrate)?
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TIOMETRY - LAST REVIEW!!!

1. Sulfuric acid reacts with magnesium hydroxide through double replacement. If30.0 g of
sulfuric acid and 25.0 g of magnesium hydroxide react, what is the limiting reactant?

2. Magnesium chloride is decomposed into its comprising elements. If 4.50 moles of
magnesium chloride are heated, how many grams of magnesium are produced?

3. Aluminum is added to hydrochlonc acid. What mass of hydrochlonc acid 1s required to
completely react with 3.46 x 10%g of aluminum?

4. Examine the following reaction:
3Fe + 4H20 —> F63O4 + 4H2
I£ 26.0 g of iron produce HZ5-g of Fe;0,, what is the percent yield of the reaction?
L
5. Hydrochloric acid is neutralized by sodium hydroxide. If 4.50 g of hydrochloric acid is added
.10 5.25 g of sodium hydroxide, how many grams of sodium chloride are produced? How
many grams of excess reactant remain?
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Honors Chemistry Stoichiometry Review

Show all of the work in the solution of the following problems.

13

How marny grams of hydrogen are formed from the reaction of 12.5 grams of potassium with 10.0
grams of water?

The decomposition of 125.0 grams of potassium chlorate produced 35 grams of oxygen. What is the
percent yield of oxygen?

Marble is 95.0% calcium carbonate. When caleiun carbonate reacts with hydrochioric acid, cartbon
dioxide gas and water are produced, rather than carbonic acid. How many grams of marble are needed
to make 100.0 grarms of carbon dioxide?

Burning coal in a power plant produces sultur dioxide gas, a severe air pollutant, because the coal,
which is mostly carbon, contains some amount of sulfur. When the coal is bumned, the sulfur reacts
with some of the oxygen in the air. What mass of sulfur dioxide is formed for each metric ton of coal
burned, if the coal is 1.50% sulfur?

Brass is an alloy, or mixture, of copper and zine. When 150 grams of a certain type of brass were
reacted with HCI, 180 grams of zinc chloride were recovered, while the copper was left unreacted.
What is the percent of copper in the brass?

5.35 grams of 20.0% sodium phosphate solution are mixed with 3.68 grams of 35.0% barium nitrate
solution. How many grams of barium phosphate precipitate are formed?
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